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Do not take money from him and exempt him from exile

Overview

The X3 explains that the 7109 of' %171 WoH12 195 IMPN R’ teaches us that one should
not take money from a murderer and exempt him from being executed. The 109 of?
WHPn Y HR 01Y 912 PN XY teaches us not take money from one who accidentally
killed someone and exempt him from going into exile. N0 discusses the need for
the second 105 regarding exile.

n1voIN asks:
= NP %Y 1197 DNYAN 12 PYUNY 119D NP

The R''2w1 has a difficulty; why is this 2105 required to teach us not to exempt the 3171

A2 from Moa -
= 3955 MV 122 NPYIN NDT NP NYPIN 23T Nann

We can derive it from the 3217 527 X0 who expounded that the 709 did not

differentiate between 32 and 79 -
- 4N5\9‘,7)2 79095 NN NN ':11‘,7\’)3'\ NY 1979447 9991 )

So therefore we should say, just as by 7°1%, one does not take money and exempt

him from execution (his required punishment) -

= 7 NPIVOM NN N9 IPYN NY MY 9N
So too by a s, do not take money from him and exempt him from n¥3 (his
required punishment). Why do we need the 105 of %P1 7°¥ 9X 0117 7913 1PN ’ (for a W), when
we can derive it from 717?!

N150IN answers:
- NI SN 99 T INVY SWIPRY T NIT PNYS 13939 9N

And the >''1 answers that it is not applicable to apply the wp>7 of 232 to 79 in

this circumstance -
N9 19V ANV DY 1299 NN 19VI9Y 11 by 19799 NIV DAY 1179 PPRY 1%

1'R%,7% ("yon) 127ma.
2 2% poo aw.
3 The n"7n expounds the 7109 of NM QTR 7M1 AW 712 799 (in 8,73 [MMR] ®1P*1) to mean that just as by 7772 77
there is no difference between 2w and 71 (in all cases the perpetrator must pay), similarly there is no difference by
a7R 121 (killing a person) between 711 3W; meaning the rule (of n"2%p) applies to both 711 and 3 w. (See TIE X,7?
*m 73" footnote # 3.) The gist of this wp>n is that by killing someone, the same rules apply to both 711 2w (unless
otherwise stated in the 77n).
4 We derive this from the P05 of 7% wo1% 7913 1PN X1 (see footnote # 1).
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Since their redemption (exemption) is not the same, for the redemption of the
7912 is to exempt him from execution, and the redemption of the »Ww is to
exempt him from exile.’

Summary
The wp>i1 of "0 is only if the derived rule is the same as the initial rule (n"2%p), but

we cannot derive M?3 Mo from 0 Mo, for they are different.

Thinking it over
1. mooin is asking that we only need the P05 of YW X7 WK 7% WHI7 912 MPN KD

mn% (which is written by 7°11) and we can derive the same rule by x W from the wp>
of 1"7n. However if there would be no 2195 by 221w only by 712, we could argue that
only by a mn% yw1 R WK X7 w3, are we not permitted to take 913, but by a A,
who is not a Mn? yw1, we may take 7913 to exempt him from M%3, and this 7w7 will
override the wp 11 of n"N; so what is Mo0IN question?!

2. Can we ask 19010 question in the reverse; that it should only say the 105 by 2w
(that we cannot take money from him to exempt him from m>3), and we should
derive 711 from 22, so we do not need the 105 of 771?

5 In the original wp>n1 of the n"7n we are deriving the same rule for both xw and 7>, that just as there is no 1% 210
if a capital crime is committed 7172 (1"27p), the same rule applies if it was committed xw3. The derived rule is the
same rule of n"2%p. However here the rule by 7 is that you cannot exempt him from 70", however the proposed
derived rule by AW is that you cannot exempt him from m73, the ruling is not the same; M?3 is not 0.
6 See ywr "1,
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